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Question ID : 113503789
Status : Answered
Chosen Option : 2

Q.2 If the water flow through the runner in radial direction but leaves in the direction
parallel to axis of rotation of the runner, the turbine is called:

Ans " A Reaction turbine
« B. Mixed flow turbine
X C. Inward turbine

X D. Radial flow turbine

Question ID : 113503660
Status : Answered
Chosen Option : 1

Q.3 Which of the following theory is also known as Beltrami or Haigh's theory?

Ans x A. Maximum distortions energy theory
f B. Maximum strain energy theory
x C. Maximum shear stress theory

x D. Maximum Principal stress theory

Question ID : 113503694
Status : Answered
Chosen Option : 2




Q.4 The maximum stress at which even a billion reversals of stress cannot cause
fatigue failure of the material is called as:

Ans X" A Factor of safety
x B. Lower Limit
f C. Endurance Limit

x D. Permissible limit

Question ID : 113503686
Status : Answered
Chosen Option : 3
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Question ID : 113503753
Status : Answered
Chosen Option : 1

Ans “ A. Kaplan turbine
x B. Impulse turbine
X C. Reaction turbine

X D. Pelton wheel

Question ID : 113503661
Status : Not Answered
Chosen Option : --
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Question ID : 113503697
Status : Answered
Chosen Option : 1




Q.8 According to Alex Inkeles, which of the following is not the model of society?

Ans X" A The evolutionary model
x B. The physical science model
I C. The concern model

x D. The organismic model

Question ID : 113503768
Status : Answered
Chosen Option : 4

Q.9 What type of mode of failure is seen if footing is resting on very dense sand, loaded
by transient dynamic loads?

Ans X" A Local shear failure
x B. General shear failure
I C. Punching shear failure

x D. Flexural failure

Question ID : 113503757
Status : Answered
Chosen Option: 3

Q.10 Intime-cost optimization of a project, ______ is done on original critical activities
and that those become critical at any stage of crashing in order of acsending cost
slope.

Ans x A. thrashing
x B. binding
\_’ C. crashing

X D. Spearing

Question ID : 113503787
Status : Answered
Chosen Option : 3

Q.11 In which system, the floor slab is supported directly on the columns, without the
presence of stiffening beams, except at the periphery is:

Ans " A Vertical framing system
x B. Ribbed slab system
x C. Transfer girders

“ D. Flat plate system

Question ID : 113503715
Status : Answered
Chosen Option : 2




Q.12 Fundamental natural period of vibration for steel frame building having height of
building 30 m is:

Ans X" A 2.421 seconds
“ B. 1.089 seconds
x C. 1.643 seconds
x D. 1.923 seconds

Question ID : 113503741
Status : Answered
Chosen Option : 4

Q.13 The maximum tolerances including side wear are permitted for Meter Gauge at
curves up to 6° is:

Ans X" A 4 mm tight to 8 mm slack
“ B. 3 mm tight to 6 mm slack
#< C.5mm tightto 10 mm slack

x D. 2mm tight to 4 mm slack

Question ID : 113503735

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.14 Which of the following is not an admixture used to alter one or more specific
properties of concrete?

Ans X" A Retarders
\, B. Polymer bonding agents
X C. Plasticizers

X D. Grouting admixtures

Question ID : 113503671
Status : Answered
Chosen Option : 1

Q.15 Standard width of asbestos cement corrugated sheets is:
Ans " A 1.08m

/5 B.1.10m
25 Cc120m
o D.105m

Question ID : 113503777
Status : Answered
Chosen Option : 2




Q.16 ______ refers to the amount of empty space within a given material.
Ans X" A Strength

x B. Viscosity

“ C. Porosity

x D. Softness

Question ID : 113503710
Status : Answered
Chosen Option : 3
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Question ID : 113503669
Status : Answered
Chosen Option : 4
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Ans X A 2000 ppm
#< B.1000 ppm
o C.3000 ppm
< D. 4000 ppm

Question ID : 113503670
Status : Answered
Chosen Option : 1
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Question ID : 113503771
Status : Answered
Chosen Option : 4
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Question ID : 113503749
Status : Answered
Chosen Option : 2

Q.21 Minimum pitch for M16 bolt of grade 4.6 is?

Ans o A 40
/< B.18
/K c.27
#< D.50

Question ID : 113503797
Status : Answered
Chosen Option : 3

Q.22

Ans x A

Question ID : 113503761
Status : Answered
Chosen Option : 4

Q.23 The condition in which soil gets clogged by preventing oxidation due to continuous
application of sewage is called:

Ans X A. Land sickness
X B. Anaerobic sickness
« C. Sewage sickness

x D. Sewage hardening

Question ID : 113503731
Status : Answered
Chosen Option : 3




Q.24 The shortest distance from the root of the fillet weld to the face of the weld is

called as:
Ans  off A Effective Throat thickness

x B. Effective length
x C. Effective area
x D. Effective depth

Question ID : 113503689
Status : Answered
Chosen Option : 1

Q.25 Which of the following is NOT a Kharif crop?
Ans  of A Wheat

75 B.Rice
x C.Bajra
x D. Jawar

Q.26 Which of the following is a secondary air pollutant?
Ans x A. Carbon Dioxide

x B. Nitrogen oxide

X C. Particulate matter

« D. Smog

Question ID : 113503707
Status : Answered
Chosen Option : 1

Question ID : 113503680
Status : Answered
Chosen Option : 2
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Question ID : 113503726
Status : Answered
Chosen Option : 2




Q.28 Which of these is a primary air pollutant?
Ans X" A Acid mists

x B.Ozone

x C. Photochemical smog

f D. Halogen

Question ID : 113503681
Status : Answered
Chosen Option : 2

Q.29 Consider the below statements with respect to seismic waves.

1. S-waves does not pass through a fluid.
2. P-waves pass through a fluid.

Identify the correct statement

Ans x A. Statement 1 is false and statement 2 is true
x B. Statement 1 is true and statement 2 is false
x C.Both are false
“ D. Both are true

Question ID : 113503740
Status : Answered
Chosen Option : 4

Q.30 Comminutors in wastewater treat ment plant are adopted to:

Ans X" A Remove colloidal matter
« B. Grind or chop large sized suspended solids
X C. Remove floating matter

X D. Remove sand and grit

Question ID : 113503734
Status : Answered
Chosen Option : 2

Q.31 Abbrevate WBS as per Construction management represents:
Ans X A. Work Bill Sample

x B. Work Booked Signature
« C. Work Breakdown Structure

K D. Work Bill Structure

Question ID : 113503783
Status : Answered
Chosen Option : 1




Q.32 Which of these is a rabi season crop?
Ans B A Rice

( B. Wheat
/< C.Maize

x D. sorghum

Question ID : 113503705
Status : Answered
Chosen Option : 1

Q.33 Which of the following instrument is used for measuring illumination level of light?

Ans x A. Frequency meter
( B. Lux meter
x C. Harmonic analyser
K D. Digital multi meter

Question ID : 113503724
Status : Answered
Chosen Option : 2

Q.34 The size and shape of the earth's core can be q_@jﬁgmd@y_information from the:
Ans ( A. P-wave shadow zone

x B. S-wave shadow zone
?{ C. Nature of meteorite

X D. Earth’s weight

Question ID : 113503754
Status : Answered
Chosen Option : 2

—_— _—
Q.35 Which of the following is an artificial aggregate?

Ans 3 A Granite

« B. Air cooled slag

X C. Basalt

X D. Sandstone

Question ID : 113503666
Status : Answered
Chosen Option : 2




Q.36

Ans x A

Question ID : 113503763
Status : Answered
Chosen Option : 4
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Question ID : 113503679
Status : Answered
Chosen Option : 2
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Question ID : 113503704
Status : Answered
Chosen Option : 3

Q.39 As per IS 800:2007, the maximum effective slenderness ratio for a steel member
always subjected to tension forceis ______.

Ans X" A 600

o B.400
/5 C.200
/< D.800

Question ID : 113503792
Status : Answered
Chosen Option : 2




Q.40 Which of the following is at the lowest level as per WBS?
Ans X" A Project

f B. Task

x C. Work package

x D. Sub project

Question ID : 113503791
Status : Marked For Review
Chosen Option : 4

Q.41 Which limit states deals with strength, overturning, sliding, buckling, fatigue
fracture, etc.?

Ans  off A Ultimate limit states
x B. Strain limit state
x C. Stress state

x D. Serviceability limit states

Question ID : 113503721
Status : Answered
Chosen Option : 1

codes?
Ans X" A.1S318000: 1985

o B.1s800: 2007
25 C.1S27000: 1992
#< D.1S9001: 2002

Question ID : 113503796
Status : Answered
Chosen Option : 4

Q.43 What does a yellow sign with a skull and crossbones indicate?

Ans X A. Thereis a risk from motorcyclists
X B. Thereis a risk from animals
x C. Thereis arisk from pirates.

“ D. There s a risk of foXie hazard.

Question ID : 113503790
Status : Marked For Review
Chosen Option : 4




Q.44 The compressive strength of concrete not more than 5% of the test results are

Ans

expected to fall is known as:

x A. Minimum compressive strength

x B. Twisting compressive strength

( C. Characteristic compressive strength

x D. Target mean compressive strength

Question ID : 113503719
Status : Answered
Chosen Option : 3

Q.45 For an industrial wastewat er sample, which of the following conditions satisfy?

Ans

/< A.BOD>COD
#< B.BOD=TOD
/< C.BOD=COD

o D.BOD<COD
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Question ID : 113503739
Status : Answered
Chosen Option: 3

Question ID : 113503693
Status : Answered
Chosen Option : 4

Q.47 Who proposed the Column Analogy Method used to analyse the indeterminate

Ans

structures?

X A. Euler
X B. Mohr

« C. Hardy Cross

x D. Castiglano

Question ID : 113503692
Status : Answered
Chosen Option : 1




Q.48 The central sag or dip of the cable varies from:

Ans f A. (1/10)th to (1/15)th of the span
x B. (1/10)th to (1/35)th of the span
x C. (1/50)th to (1/100)th of the span
x D. (1/5)th to (1/40)th of the span

Question ID : 113503691
Status : Answered
Chosen Option : 1

Q.49 In absence of detailed design, approximately how much percentage for steel
reinforcement may be considered for for estimation of RCC lintels

Ans X" A 1.0t05.0%
W B.071t01.0%
#5 C.02100.5%
75 D.1.0t010.0%

Question ID : 113503775
Status : Answered
Chosen Option: 3

Q.50 Which of the following is NOT a principal method of laying out water distribution
system?

Ans X" A Dead-end system
x B. Radial system
X C. Grid-iron system

« D. Pumping system

Question ID : 113503737
Status : Answered
Chosen Option : 4

Q.51 The value at the end of the utility period without being dismantled is termed as:

Ans X A. Market value
«B.Salvagevalue

x C. Scrapvalue
x D. Book value

Question ID : 113503774
Status : Answered
Chosen Option : 2




Q.52 Which of these is not an effect of air entrainment on the properties of concrete?

Ans X" A Reduces unit weight
x B. Decreases permeability
x C. Reduces modulus of elasticity

f D. Increases bleeding

Question ID : 113503672
Status : Answered
Chosen Option : 2

Q.53 What is the chemical name of bleaching powder?

Ans “ A. Calcium hypochlorite
K B. Calcium hypochloride
x C. Calcium hyperchloride

K D. Calcium hyperchlorite

Question ID : 113503738
Status : Answered
Chosen Option : 2

Q.54 Response reduction factor for ductile shear wpﬂ-y(iﬂvspggial RC moment resisting
frame as per IS 1893 (part1):2002 is: Ry

Ans X A6
X B4
vcs
X D3

Question ID : 113503751
Status : Answered
Chosen Option : 2
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Question ID : 113503674
Status : Answered
Chosen Option: 3




Q.56 =T Ug gq N T g A enpfar’ ag g wrar sifera w=arg?
Ans X A gz ugd

(B.ﬁ@fﬁg?aﬂa;%qawwu—sﬁ

£5 C.af 3y sitel Y el gue § u €, & Txm o ugd

#< D. 7l 0R sifet Y sife oY oTielt @

Question ID : 113503799
Status : Answered
Chosen Option : 4

Q.57 Which of the following depends on Build Operate Transfer System of Contract?
Ans “ A. Public private partnership

x B. Resource and service
x C. Cost plus fee

x D. Fixed price

Question ID : 113503784
Status : Marked For Review
Chosen Option : 4

Ans  of A 145

/< B.155
/5 C.140
25 D.150

Question ID : 113503794
Status : Answered
Chosen Option : 1

—_—
Q.59 Ordinary Portland cement is ______ cement.

Ans " A Type?2
X B. Type 3
o C.Typet
75 D.Type4

Question ID : 113503663
Status : Marked For Review
Chosen Option : 3
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Question ID : 113503684
Status : Answered
Chosen Option : 2
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Question ID : 113503706
Status : Marked For Review
Chosen Option : 1

Q.62 Which of the following is NOT a method of distribution of water?
Ans “ A. Distillation system

?{ B. Gravity system
X C. Pumping system

X D. Combined gravity and pumping system

Question ID : 113503730
Status : Answered
Chosen Option : 1
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Question ID : 113503698
Status : Answered
Chosen Option : 4




Q.64 Which of the following has the highest irrigation efficiency?
Ans X" A Sprinkler irrigation

x B. Surface irrigation
x C. Powerloom irrigation

( D. Dripirrigation

Question ID : 113503708
Status : Answered
Chosen Option : 4
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Question ID : 113503659
Status : Marked For Review
Chosen Option : 2

Q.66

Ans B A
/< B
K C
v &}

Question ID : 113503786
Status : Answered
Chosen Option : 4

Q.67 Shape factor for most rolled I-section in flexure about strong z-axis ranges from

Ans o A 1.09t01.18
< B.1.421t01.61
/5 C.1.20t01.42
25 D.1.18101.20

Question ID : 113503793
Status : Answered
Chosen Option : 4




Q.68 The boundary between the crust and mantle is called as:
Ans X" A Lithosphere

x B. Benioff zone
x C. Bed rock

o D. Moho

Question ID : 113503747
Status : Marked For Review
Chosen Option : 4

Q.69 Zone factor for severe seismic intensity as per IS 1893 (part 1):2002 is:

Ans B A 0.1
/< B.0.16
/< C.036
W D024

Question ID : 113503750

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Ans X A Septic tank
f B. Sanitary landfills

X C. Dug wells
X D. Tandom landfills

Question ID : 113503736
Status : Marked For Review
Chosen Option : 2

Q.71 Which of the following code provides criteria for earthquake resistant design of
structures?

Ans  of A 1S1893:2002
< B.SP24:1983
/< C.SP23:1982
75 D.1S 456: 2000

Question ID : 113503716
Status : Answered
Chosen Option : 1




Q.72 1.S. Code of practice for design of raft foundation is:

Ans X" A IS 456: 2000
#< B.IS1080: 1985
75 C.1S1904:1986

o D.1s2950: 1981

Question ID : 113503756
Status : Marked For Review
Chosen Option : 4

Q.73 What is critical gradient for coarse-grained soil which has voids ratio of 0.78 and
specific gravity 2.67?

Ans o 1 004

#< B.0.76
/X C.074
#< D.0.84

Question ID : 113503758
Status : Answered
Chosen Option : 1

is 1 kW, Calculate the apparent power.
Ans BT A 1.7 KVA

o B.1.43kvA
25 C.0.7kVA
#< D.03kVA

Question ID : 113503727
Status : Answered
Chosen Option : 3

Q.75 The project management tool “PERT” stands for

Ans « A. Program Evaluation Review Technique
X B. Program Evaluation Result Test
x C. Program Exam Result Technique

x D. Program Exam Review Test

Question ID : 113503785
Status : Answered
Chosen Option : 1




Q.76 The process of killing pathogenic group of microorganisms in water is called:
Ans " A Indemnification

#< B. Annihilation
#5 C. Abolition
f D. Disinfection

Question ID : 113503733
Status : Answered
Chosen Option : 4

Q.77 Which law states that intensity of pressure at any point in a fluid at rest is equalin
all directions?

Ans X" A Bernoulli's law
f B. Pascal's law
x C. Charles’ law

x D. Archimedes principle

Question ID : 113503654
Status : Answered
Chosen Option: 2

Q.78 The property fetches a net annualincome of Rs. 900/- deducting all outgoings.
What is the capitalized value of property if the ROl is 6% per annum?

Ans 3 A Rs. 16000
75 B.Rs.18000
o C.Rs. 15000
#< D.Rs. 12000

Question ID : 113503781
Status : Answered
Chosen Option : 3

Q.79 Which of the following statement is incorrect with respect to direct shear test?
Ans X A. As compared to the Triaxial test, there is little control on the drainage of soil
X B. The plane of shear failure is predetermined, which may not be the weakest one.

« C. Normal stresses andsShearing stresses over the potential surface of sliding is
uniform

x D. As test progress, the area under shear gradually decreases

Question ID : 113503773
Status : Answered
Chosen Option : 1




Q.80 InIndia, the standard brick size is

Ans 3" A 120 mm x 50 mm x 90 mm

XB.150mmx90mmx90mm
“C.190mmx90mmx90mm

XD.‘I30mmx20mmx50mm

Question ID : 113503779
Status : Answered
Chosen Option : 3
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Question ID : 113503788
Status : Answered
Chosen Option : 2

Q.82 The ratio between the dynamic viscosity and density of fluid is known as:
Ans x A. Specific volume

( B. Kinematic viscosity

x C. Density

X D. Specific weight

Question ID : 113503651
Status : Answered
Chosen Option : 2
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Question ID : 113503685
Status : Answered
Chosen Option : 1




Q.84 the stress condition at the state of impending failure of the section is analysed and
the non linear stress- strain curves of concrete and steel are made use of, this
method is known as:

Ans x A. Working stress method
« B. Ultimate load method
x C. Stress method

K D. Limit state method

Question ID : 113503720
Status : Marked For Review
Chosen Option : 1
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Question ID : 113503690
Status : Answered
Chosen Option : 1
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Question ID: 113503678
Status : Answered
Chosen Option : 4

Q.87 Which of the following is an example of angular aggregates?
Ans " A Dug flints

\f B. Screes

K C. Seashore gravels

x D. Pit sand

Question ID : 113503667
Status : Answered
Chosen Option : 2
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Question ID : 113503770
Status : Answered
Chosen Option : 1

Q.89 China clay is an example for:
Ans o A Kaolinite

75 B.llite

x C. Montmorillonite

x D. Vermiculite

Question ID : 113503759
Status : Answered
Chosen Option : 1

Q.90 How many CSR theories are there?
Ans x A. Five

x B.Ten
x C. Seven
« D. Three

Question ID : 113503776
Status : Marked For Review
Chosen Option : 2

Q.91 The device used for measuring the pressure at a point in a fluid by balancing the
column of fluid by the same or another column of the fluid is known as:

Ans X A. Thermometer

X B. Weirs

X C. Barometer

V' D. Manometer

Question ID : 113503653
Status : Answered
Chosen Option : 4




Q.92 Which of the following is the latest Indian standard code provides specifications for
drinking water?

Ans  off A 15105002012
/< B.IS10500:2016
#< C.1S10500:2014
75 D.1S10500:2015

Question ID : 113503729
Status : Marked For Review
Chosen Option : 4

Q.93 At arecording station, a difference in time of arrival between P wave and S waves
was observed to be 1.5 seconds. What is the approximate distance from the station
at which the event occurred? Assume P wave velocity as 4km/sec and S wave
velocity as 2km/sec.

Ans B A 7km

#< B.8km
x C. 5km
o D. 6km

Question ID : 113503755

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.94 ______ cement is a specialty cement made for Oil and Gas industry.
Ans X" A Class O

#< B.Class 0 &G

( C.Class G
X D.Class |

Question ID : 113503664
Status : Marked For Review
Chosen Option : 2

Q.95 Which of the following is the imaginary beam of same span as the original beam
loaded with M/EI diagram of the original beam, such that the shear force and
bending moment at a section will represent the rotation and deflection at that
section in the original beam?

Ans « A. Conjugate beam
x B. Peripheral beam
x C. Prestressed reinforced beam

x D. Reinforced beam

Question ID : 113503696

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.96 Man suffers from several forms of conflicts. The conflicts may arise because of
several reason. Which among the following would be the reason?

a. Full or partial failure of socialization due to biological or social reasons and lack
of abilities to follow values and norms of society

b. Conflict between different codes when two or more codes are applicable in the
same situation

Ans 3" A Only A

x B.Only B

x C. Not A neither B

J D. Both option A and B

Question ID : 113503767
Status : Answered
Chosen Option : 4

Q.97 TS & o fAepret a3 & A= & @ foraeh emaggerar 9t gidt &7

Ans  off A 3ftnrd ST aTfrERT & FeEa TR Y 90 3 SR 3T ST ey
75 B.UEE 7 ¥ valed arman 3R a2 el aor g1 9T dife @0 R e GRT O a1eR
e ad

75 C.HRerd ok eieer @ Tdg & Ul &1 gardr & Bieh e ST F1fey adifth I8 Fels A i
Srgafa gt 4 @

7% D. Srergeh @51 A AL graeh sraf @1, Wt eSS sl R a0 Hie &1

Question ID : 113503703
Status : Answered
Chosen Option : 2

Q.98 If the Reynold number is less than 2000 for a pipe flow, the flow is said to be:
Ans X" A Uniform flow

{ B. Laminar flow
X C. Rotational flow

X D. Turbulent flow

Question ID : 113503657
Status : Answered
Chosen Option : 2

Q.99 The expected out-turn of a stone cutter for anitem of work “Ashlar stone
dressing” is:

Ans X" A 1.60 cum per day
J B. 0.70 cu m per day

x C. 0.25 cu m per day
x D. 1.20 cu m per day

Question ID : 113503780
Status : Answered
Chosen Option : 2




Q.1000n a section of B.G track, the ruling gradient is 1 in 200. If the track is laid in that

place at a curve of 5°, then the allowable ruling gradient on the curve will be

Ans  of A 100333

#< B.1in 555
#< C.1in666
75 D.1in 444

Question ID : 113503745
Status : Answered
Chosen Option : 3

Q.101 Which method of developing a tube well uses calgon as dispersing agent?
Ans f A. Surging method

x B. Pumping method
x C. Compressed air method

x D. Dry ice method

Question ID : 113503676
Status : Answered
Chosen Option : 1

Q.102 % 3R TeewR & ATAR, e omrg vt & it wardl & v il 87

Ans B A 15 R 20
75 B.40 3R 45
W C.303R35
#< D.20 3R 25

Question ID : 113503765
Status : Answered
Chosen Option : 2

Q.103 What is the diameter of funnel which collects rain water in tipping bucket rain

gauge?
Ans 3 A 100mm

< B.200mm

o C.300mm

Z< D.400mm

Question ID : 113503712
Status : Answered
Chosen Option : 2




Q.104 The flow of a fluid along a curved path or the flow of a rotating mass of fluid is
known as:

Ans X" A Uniform flow
x B. Steady flow
x C. Laminar flow
“ D. Vortex flow

Question ID : 113503658
Status : Answered
Chosen Option : 4

Q.105 Which bitumen test is conducted to determine hardness of bitumen?

Ans 3" A Softening point test
x B. Float test

x C. Spot test
f D. Penetration test

Question ID : 113503701
Status : Answered
Chosen Option: 4

Q.106 fa=1 # & fore @farst uarsd a1 fAwfor f&fee & ofid fAgen ur srgfea sifefrer gwmoge
& wrew | faferem &Y oftew @ Maarsey oftey ot sitgae forar siar 82

Ans X A z@se

7< B.gwmEe
W C @it
25 D. AleiReimmse
Question ID : 113503760
Status : Answered
Chosen Option : 1
—_——
Q.107 foreft TamT & fascor & k= fA 7 @ Rt wen-fereita <remi 1= irar @2

Ans X A T

< B9

K cwe
W 0.

Question ID : 113503714
Status : Answered
Chosen Option : 4




Q.108 91 @e foad afya e a1 &5 39 uahR & o6 dichle o1 @diea a=1ra erua I=aayd @14 a6
aga gt &, STaf ufaafera ©e it a7 fagfa aara Afée a7 @ &0 &, a1 wgarar @?

Ans  off A ot vafer @
X B. o vaf @
/X C.wHyafed @

/< D. ddfea @

Question ID : 113503722
Status : Answered
Chosen Option : 1

Q.109 Maximum Shear Stress Theory is also known as:

Ans x A. Beltrami and Haigh's T heory
« B. Coulomb's Theory
x C. St. Venant's T heory

K D. Rankine's T heory

Question ID : 113503688
Status : Answered
Chosen Option : 3

Q.110 A type of seismic surface wave having horizontal motion that is transverse (or
perpendicular) to the direction of wave is travelling:

Ans x A. P-wave

K B. Love wave

\f C. S-wave

X D. Body wave

Question ID : 113503748
Status : Answered
Chosen Option : 3

—

Q.111 Shape factor of cross section with diamond shape under flexure is:

Ans A1
X B.4
Wwc?2
X D3

Question ID : 113503800
Status : Answered
Chosen Option : 3




Q.112 g=a2r4 "ieR A1g d fA= d @ fopet gifyes gify (Sta) & efafa arar sirar @2
Ans X' A ReR HIR @il

o B om it

75 C. e oir oy gere

/< D. A &R s

Question ID: 113503728
Status : Answered
Chosen Option : 4

Q.113 The compressive strength of hardened concrete is inversely proportional to the
water-cement ratio, provided the mix is of workable consistency; this is called as:

Ans x A. Mohr's Law
x B. Euler's law
f C. Abram's law

x D. Newton's law

Question ID : 113503717
Status : Answered
Chosen Option: 3

Q.114 Standard size of wooden sleeper used in Broad gauge is (in cm)

Ans X" A 257x25x13
#< B.185x20x 13
W C275x25x13

#< D.257x30x 15

Question ID : 113503744
Status : Answered
Chosen Option : 3

Q.115 Which method of well construction uses a chisel shaped bit attached to lower end
of a pipe string?

Ans X" A Boring
« B. Jetting
K C. Digging

x D. Driving

Question ID : 113503711
Status : Answered
Chosen Option : 3




Ans

Q.116 According to Frey and Stutzer, age affects happinessin ______ manner.

x A. W-Shaped
75 B.Z-Shaped
o C.U-Shaped
25 D.V-Shaped

Question ID : 113503764
Status : Not Answered
Chosen Option : --

Ans

Q.117 The point at which the line of action of the force of buoyancy will meet the normal
axis of the body when the body is given a small angular displacement is called as:

x A. Centre of mass
x B. Point of equal pressure
I C. Meta-centre

x D. Centre of gravity

Question ID : 113503655
Status : Answered
Chosen Option: 3

Ans

Q.118 The intensity of resisting force normal to the sectional plane is called as:

x A. Intensity of Compression
x B. Intensity of Tension

\f C. Intensity of normal stress

X D. Strain

Question ID : 113503687
Status : Answered
Chosen Option : 3

Ans

Q.119 gR Agsal & 1y 7gsa A grada, o arean @ ag grafoas fAaat & ae ure aar @

SR A7 SR FHTS & ftw & Heul ol THFar g1 39 ufshar & @ we & forg
guTSIATfEET ZR1 foh ug &1 Iugtn farar SiTar 82

25 A guTSITE
W B. TarSheRzor
75 C.oHEE

#< D. gureard

Question ID : 113503766
Status : Answered
Chosen Option : 3




Ans

x A. Mercury

f B.Ozone

x C. Fluorides

x D. Lead

Q.120 Which air pollutant is released due to photochemical reactions?

Question ID : 113503682
Status : Answered
Chosen Option : 2

Ans

the depth below ground is more than 10m?

o A 25
#< B.30
/K C15
75 D.20

Ans

FHgerrdt 82
/X A g5 S 3R wWiga
o B.IRN 202 fRom
< C. e @z
25 D. Ry fRer

Q.121 As per IS 1893 (part 1):2002 what is the corrected value of N for seismic zone Ill and

Question ID : 113503746
Status : Not Answered
Chosen Option : --

Question ID : 113503743
Status : Answered
Chosen Option : 1

Ans

—=

Q.123 Shear reinforcement is required to prevent propagation of

X A. Flexural cracks
« B. Diagonal cracks
x C. Dowel crack

x D. Splitting crack

Question ID : 113503723
Status : Answered
Chosen Option : 2




Q.124 A fluid, in which shear stress is more than the yield value and shear stress is
proportional to the rate of shear strain is known as:

Ans 3" A Newtonian fluid
“ B. Ideal Plastic Fluid
#< C.Real Fluid
75 D.Ideal fluid

Question ID : 113503652
Status : Answered
Chosen Option : 1

Q.125 The shareholder value theory a perspective was denoted by the Nobel Laureate

Ans x A. Wasim Hyder
x B. Mario Pablo
J C. Milton Friedman

x D. Janet Roy

Question ID: 113503778
Status : Not Answered
Chosen Option : --

Q.1261S:6403-1981 & AT, IR AMUR & ¢ AT & Hel o F SATHR & 0Tk T AT
ferar ghm?

Ans XA 13
/< B.038
Wwci2
2D

Question ID : 113503752
Status : Answered
Chosen Option : 1

Q.127 In Which type of flexible pavement failure, the upheaval of portion of pavement is
followed with depression?

Ans « A. Frost heaving
X B. Shear failure and cracking
x C. Longitudinal cracking

x D. Reflecting cracking

Question ID : 113503702
Status : Answered
Chosen Option : 1




Q.128 51 & fopwr fRastwar &1 wTa=t wrterTen & AR Sga 1 A aRd gy frar sirar g2
Ans o A

/< B. i

X c@r

75 D.urt Y ARk arerear

Question ID : 113503677
Status : Answered
Chosen Option : 1

Q.129 Which of these is not a basic requirement of well screen?

Ans x A. It should have minimum resistance to the flow of water into the well
x B. It should be strong enough to prevent collapse
“ C. It should promote excessive movement of sand into the well

x D. It should be corrosion resistant

Question ID : 113503713
Status : Answered
Chosen Option : 4

Ans x A. All traffic including those turning right or straight have equal opportunity as those
turning left

“ B. When the distance between intersections:on an important highway isdess,
rotaries become troublesome.

X C. Capacity of rotary intersection is the highest of all other intersection at grade

X D. Rotaries can be constructed with advantage when the number of intersecting
roads is between four and seven

Question ID : 113503700
Status : Answered
Chosen Option : 4

Q.131 Which of the following is not a correct statement with respect to basic
requirements of intersection at grade?

Ans X A. Good lighting at night is desirable
X B. Sudden change of path should be avoided
x C. Geometric features should be adequately provided

¢ D. At the intersection the area of conflict should be as big as possible

Question ID : 113503699
Status : Answered
Chosen Option : 4




Q.132 Which of the following has the highest Sulphate Resistance (SR)?
Ans B A Typelll

f B. TypeV
75 C.Typell
75 D.Typel

Question ID : 113503665
Status : Answered
Chosen Option : 4

Q.133 Which of the following material is used for manufacturing of slag cement?
Ans x A. Chromium sludge

K B. Fly ash
x C. Ferro alloy

f D. Blast furnace slag

Question ID : 113503683
Status : Answered
Chosen Option : 4

Q.134The ______ stored in a moving vehicle is relat ed!@mpqu speed of the vehicle.
Ans X" A Potential energy

“ B. Kinetic energy
x C. Electromagnetic energy

X D. Electrical energy

Question ID : 113503725
Status : Answered
Chosen Option : 2

—_—— -

Q.135 An old building has been purchased by a person at cost of Rs. 30,000/- excluding the
cost of land. What is the amount of annual sinking fund at 4 % interest assuming
the future life of building as 20 years and scrap value of building as 10 % of cost of
purchase?

Ans " A Rs.400.20
#< B.Rs.200.70
o C.Rs.907.20
#< D.Rs.890.70

Question ID : 113503782
Status : Answered
Chosen Option : 3




Q.136 Corporate Social Responsibility (CSR) means?
Ans x A. Complications of social life

f B. Compliance of social and ecological responsibility of the companies or
organizations

x C. Corporate life having social responsibilities

x D. Corporate life having all social responsibilities to be followed

Question ID : 113503772
Status : Marked For Review
Chosen Option : 2

Q.137 fafawfor Tuet ux gefear o1 wzor wa: a7 ghar 82
Ans  off A wrzEl # Rd ok Rroreh & FHRoTAI

7< B. siish & ard e 7 ST
25 C. i & = @ uRRra 7 g
X D. = & g e 3 A4

Question ID : 113503798
Status : Answered
Chosen Option: 1

Q.138 In which method of irrigation, the entire tieia Is aivicea into number of levelled plots
surrounded by levees?

Ans " A Basin method
x B. Furrow method
« C. Check method

X D. Border strip method

Question ID : 113503709
Status : Answered
Chosen Option : 3

=
Q.139 Winkler's method is used to determine ______ content of wastewater.

Ans X" A Methane
« B. Dissolved oxygen
K C. Chemical oxygen demand

x D. Biological oxygen demand

Question ID : 113503732
Status : Answered
Chosen Option : 2




Q.140

Ans XA 25
& B.24
< c.26
W D27

Question ID : 113503762
Status : Answered
Chosen Option : 3

Q.141 According to Alex Inkeles, there are how many models of society?

Ans X A7
X B2
s
X D3

Question ID : 113503769
Status : Answered
Chosen Option : 4

Q.142 Moisture content in aggregates can be recorded continuouslyby ______ .
Ans " A Calcium carbide method

x B. Wet measurement
?{ C. Drying method

« D. Electrical meter method

Question ID: 113503668
Status : Answered
Chosen Option : 4

—_—— -

Q.143 ______ is the head against which a centrifugal pump has to work
Ans  off A Manometric head

X B. Suction head
X C. Vertical head

x D. Delivery head

Question ID : 113503662
Status : Answered
Chosen Option : 2




Q.144 3 w1l dfAes St dhehle & F=-Fa et & srfagen gege! ok gl & fAafor & forg
Iaerdl gid &, st et ahshle a1 wak AT s glan 8, o shgerra €2

Ans X" A w7t Hedh (Water retarders)
x B. GisitemT (Poz zolanas)
x C. aif~a7 TsfAaTe=rR (Bonding admixtures)
« D. TaR-323T gSicH (Air-entraining agents)

Question ID : 113503718
Status : Answered
Chosen Option : 4

Q.145 Which of the following is an artificial pozzolana?
Ans « A. Fly ash

K B. Shales

x C. Opalinc cherts

75 D.Clay

Question ID : 113503673
Status : Answered
Chosen Option : 1

Q.146 Which of these is a sub-surface source of water?
Ans " A Lakes

x B. Ponds
X C. Rivers

\_’ D. Aquifers

Question ID : 113503675
Status : Answered
Chosen Option : 4

_— ==
Q.147 The type of flow in which the velocity at any given time does not change with
respect to space is known as:

Ans " A Laminar flow

X B. Compressible flow
« C. Uniform flow

x D. Unsteady flow

Question ID : 113503656
Status : Answered
Chosen Option : 3




Ans

W A S R

75 B. s@Rea Ay
75 C. oo tha fafy
X D. ot ok 3 Y

Q.148 ugTSsi & &1 a1t 97d hft-w il 9ad uge vRarfaa g & sie-oik fawl #f sikag d a2
fewat &) g=rar sirar @1 faatfor 6 ag fafdr aar sgendt 82

Question ID : 113503742
Status : Answered
Chosen Option : 1

Ans

Q.149 Rankine’s Theory is also known as:

« A. Maximum Principal stress theory
K B. Maximum distortions energy theory
x C. Maximum shear stress theory

K D. Maximum strain energy theory

Ans

K A48m
o B 42m
5 Ca4m
5 D.46m

Question ID : 113503695
Status : Answered
Chosen Option : 1

Q.150 The effective length of beam between the supports tor compression flange
restrained fully against lateral bending is

if actual length of beam is 6m.

Question ID : 113503795
Status : Answered
Chosen Option : 2

Section : General Knowledge /Awareness

Ans

Q.1 #gra«tsR fra sy A foua &2

X A ToRE
W B wRE
/5 C. s
75 D. memRar

Question ID : 113503812
Status : Answered
Chosen Option : 3




Q.2 IR UIA &F U ASAUTH I A?
Ans X A 7S sartor

75 B3¢ gemga

o c. e g

/< D. e Rifoem e

Question ID : 113503817
Status : Answered
Chosen Option : 3

Q.3 deHe @ g & forg e 7 | fore Suerzor o1 gi=im srfayand 22

Ans  of A ISP
/< B.LAN
75 C.SPMm
/X D.FTP

Question ID : 113503818
Status : Answered
Chosen Option : 2

Q.4 SaR &Y, O wft-soft afgenaei & forg fay Hu ARg=fIo wgrerar @, fre @« 9 Safaa

&
Ans X A afefiarer
75 B.fre
of C. 3sfie

< D.aweR

Question ID : 113503806
Status : Answered
Chosen Option : 1

Q.5 TheFTPstands for ______ .
Ans X A. File Typing Protocol

« B. File Transfer Protocol
x C. File Translate Protocol

x D. File Transit Protocol

Question ID : 113503819
Status : Answered
Chosen Option : 2




Q.6 The highest mountain peak in India is:
Ans " A Himalaya

x B. Peak of Dhupgarh
“ C. Kanchenjunga

x D. Mount Everest

Question ID: 113503814
Status : Answered
Chosen Option : 3

Q.7 The term "silly point” is related to which of the following game?
Ans 3 A Volleyball

K B. Hockey
x C. Football

“ D. Cricket

Question ID : 113503804
Status : Answered
Chosen Option : 4

Q.8 Which is the birth anniversary of Mahatma Gal@jigehnﬂ_ed in 2019?
Ans K" A 175th

/5 B.125th
/< C.100th
W D.150th

Question ID : 113503801
Status : Answered
Chosen Option : 4

Q.9 findear, AeamR & frw o 9 fea 82
Ans O A fafram

o B 3@

< . aiurer

75 D.uR

Question ID : 113503815
Status : Answered
Chosen Option : 2




Q.10 Where was Gautama Buddha born?

Ans 3" A Shravasti

o B. Lumbini

x C. Koushambi

x D. Pavapuri

Question ID: 113503816
Status : Answered
Chosen Option : 2

Q.11 Who was appointed as the head of Indian Air Force on 30 September 2019?
Ans “ A. Rakesh Singh Bhadauriya

K B. Karamveer Singh
75 C.Ajit Singh
K D. Anil Khosla

Question ID : 113503802
Status : Answered
Chosen Option : 1

Q.12 ¥Ra & wfrrsy &t wetar afAfy & sreaar (Chairman of the drafting committee) &t 47
Ans X A wgrenr e
o B.3f fow srideaw

/X C. et iz e
75 D.gum g s
Question ID : 113503809
Status : Answered
Chosen Option : 2
—_——
Q.13 ______is aninput device used to select or highlight.

Ans X A. Printer

« B. Mouse

X C. Monitor

/5 D.USB

Question ID : 113503820
Status : Answered
Chosen Option : 2




Q.14 India handed over Rs. 2.41 crores worth for school buildingto ______ in 2019.
Ans X" A Pakistan

x B. Indonesia

x C.lIran
f D. Nepal

Question ID : 113503803
Status : Answered
Chosen Option : 4

Q.15 As of January 2020, who is the current president of World Bank?
Ans “ A. David Malpass

K B. Christine Lagarde
x C. Jim Yong Kim

K D. Robert Zoelick

Question ID : 113503808
Status : Answered
Chosen Option : 1

Ans 5" A 12
/X B.8
K coe
W D.10

Question ID : 113503805

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 World Environment Day is celebrated on:
Ans " A 07th June

o B.05th June
25 C.09th June

75 D.05th May

Question ID : 113503813
Status : Answered
Chosen Option : 2




Q.18 STt 2020 ah &Y ST & FFAR, GAfFafor oz faewra & forg siazfdha d (IRBD) &
forad e &7

Ans 5" A 195
#< B.201
o c 189
75 D.190

WWW.ALLEXAMREVIEW.COM

Question ID : 113503807
Status : Answered
Chosen Option : 1

Q.19 fa=1 & & fopg stigle &l '90E AT & ATH Q ST91 SA1471 87
Ans X A SrEEanT Siieie

75 B. Remwa srieler

W C. af= s sieter

#5 D. 9Rd BYE srfeler

Question ID : 113503811
Status : Answered
Chosen Option : 3

Q.20 Who is the Chief Election Commissioner of India as of January 2020?
Ans x A.B.B. Tondon

x B. Achal Kumar Jyoti
{ C. Sunil Arora
X D. Nasin Jaidy

Question ID : 113503810
Status : Answered
Chosen Option : 3

Q.1 At & iz 3t s | 8iiR 11 fag g &1 shem A &t 1 ST S wed AT ge AR @R,
et g gg FraT=aa: Ard 92 @ 9= udfta gt g ofiz fAofa & fop feg o et @ sl &
& | &) 7 ST 1 adhgof G @ ok fAfYa 9 are= wRar @1

YA Gt AaTee THe &
Tt wper YemiEai &1

farsend | 9ot wtarse enfeai &1
forene |11: o Yemfeai whe &1

Ans X" A7t s | ok 7 €Y Frsen || arer s 1
/< B. &ad freend | urer &zar 1
/X C. &aet s || urer har g |
W D. 21 A e a2

Question ID : 113503832
Status : Answered
Chosen Option : 4




Q.2 <741 &1 gg uffw fEar fi ofix ur1 ag E1¢ gt 8iix 1000 #Hiew =<, fohe ag a1d 7t 3k 650
ez Teft| fd &, ag ard gt 3fik 1900 e el | 317 3T THA &Y 3R &= ot faerm g2

Ans qu;f
o B.5w

75 c.afor
75 D.ufgm
Question ID : 113503828
Status : Answered
Chosen Option : 2
Q.3
Ans « A
< B
K c
< D
Question ID : 113503838
Status : Answered
Chosen Option : 1
—
Q.4
Ans x A
< B
X c
v &)

Question ID : 113503821
Status : Answered
Chosen Option : 4

—_— ==

Q.5 2w g usr & gek usr 3R &} FAF - | 3R 1| few g &1 smueR) fAvfa shear & for e A o
TIQ 3fiche U oAl S+R 7 & forg gt & ar 9811 St suat Y ud iR usrar IR &)

usl : ASTHAR Y g ferat 82
I. T &1 519 15 fR¥ydaz 1960 Y goim o
Il. ISTFHHAR FT 311, TSI | ek 40 adf HH 81

Ans B A e | H R T SHieh S St e T ITR 27 & g uatd €, weifdh s I A Ry g sriend
3hel UM T IR 21 & forg vafed gt &1

ZX B. &Y |8 R 1Y 3iiehd sidhet ue ohT 7R 27 & forg vl €, wrafth s | § g g aier
3hd UM HTIW 7 & g yaia Tgi §1

I C. &y | R YT I, 1 § 3T 77 3fichs U &1 3R 7 & AU smasgss g1

x D. YT | 3R %A I, ST & Y 7Y 31 Tep a1 fActen? oft g sh1 3R &7 & forg vafa agt
gl

Question ID : 113503840
Status : Answered
Chosen Option : 4




Q.6 39 faereu @1 Ta+ &, et AR 2rsg & ATy agh Hea §, S gEN 2T o1 ugd A% F 8l

Frog:Croak :: Monkey : ?
Ans 3 A Beat

x B. Cackle
x C. Jingle
( D. Gibber

Question ID : 113503829
Status : Answered
Chosen Option : 2

Q.7

Ans x A

Question ID: 113503826
Status : Answered
Chosen Option : 4

= —

Q.8 Inacertain code GARMENT is written as 78 then in the same way how REPLACE will
be coded?

Ans o 1 60
75 B.79
5 C.a8
< D.84

Question ID : 113503830
Status : Answered
Chosen Option : 1

Q.9 Select the option that will correctly replace the question marks (?) in the series.

PE, TJ, X0, BT, ?
Ans A g7

75 B.EY
v JN
< D.kz

Question ID : 113503834
Status : Answered
Chosen Option : 3




Q.10
Ans

Question ID : 113503824
Status : Answered
Chosen Option : 3

Q.11
Ans

Question ID : 113503825
Status : Answered
Chosen Option : 3

Q.12 13 Ry my usr F wa st 3R &) o - | o 1| R g & ) sirueR), fRrofa @ @ R w3 Ry

o : "Sf3aT faw thisd (India Wins Freedom)” & S i< &2

. 'fradt oifw far STargeens Ag® g1 fef@a 81
1. 4fEa Ardfiere Ags, Sargene AgE & far a

Ans X" A o || B RT TTQ ST Sfhe BS T SR &3 & fo1Q UaTd @, Siateh e | § Ry g enied
3hd UM DT IR &1 & o gaied At 8l
o B. & | 3R o Il, S B R QAT 3iich® Geh a1y fAieren? e 3R 37 & forg vaf e
2l
25 C.ard@ w1 & Ry 1y siiens a1 | F Y 1Y e, kA U8 T I<R 33 & forg gafe
21
5 D.FHU | F Ry Y oo e U 1 IR EA & forg vated & il e 1| 8 Ry g eni
3kt U 1 IR 7 & o yatd 78t &1
Question ID : 113503839
Status : Answered
Chosen Option : 2
-
Q.13
Ans f/_\_
/< B
K c
/< D.

Question ID : 113503822
Status : Answered
Chosen Option : 1




Q.14 Select the option that will correctly replace the question marks (?) in the series.

19,31,49,73,?
Ans 5" A 109

/< B.149
o Cc103
/< D.105

Question ID : 113503835
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Q.15 Sohan and Anuj are brothers. Dev is father of Renu. Renu's mother is sister of
Sohan. How is Dev related to Anuj?

Ans x A. Brother
x B. Husband

x C. Son

f D. Brother-in-law
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HY: ot S grelt g1
Tt shorcha et &1

forsenef I: @oft gt ST g
forsenef 11: o et sfrcha €1

Ans X A 2T s urer ka2l
W B. &aw e || urer gl
25 C. Faet P | ure &aT g
% D. 7 at s | ok 7 &) Frse || ure a2 |
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Q.17 Which of the following interchange of signs would make the equation correct?

70+15+80%3-100= 370
Ans « A.xand +

KB.+and-
XC.xand-
#< D.+and+
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Q.18

Ans ! A.

Question ID : 113503823
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Q.19
Ans ( A
X< B.
< c
< D
Question ID : 113503827
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_—
Q.20
Ans “ A
< B.
X c
/< D
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Section : General Hindi
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Q.2 '&our &R A fReare A7 i et & forg gen == ghm:
Ans X A srETeH
/< B.&ORY

W C o
/X< D.3g
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Q.3 "ar¥id § gy Aawre” Fi smrea & forg Iugeh gt &:
Ans X" A STl @ T ST

o B. 7 & @ P

75 caadaEd

/< D. 02 Siererz @
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farere @ arer gz Hifsgl
Ans o A s
/X B.aa
25 C. s
< D.sRaa
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Ans X A S Enh dwT Y e |

£< B. 9f-get &t AR are

£ C. aRadsfiet wepfa are)

o D. ot e o e e
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Ans «A. 3T
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/< C. R

/X D.aw
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